Histogramas de log;,(F;/max{F;,3}) (5-tuples)

Sujeito S1 mt=110% (585 5-tuples)
Histograma logio(Fi/max{F12345})

150

100

50

I T T T T I I I R R R R e e e e e

OO PRNOOARANOOIIPAN

Sujeito S3 mt=110% (550 5-tuples)
Histograma logio(Fi/max{Fi12345})
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Sujeito S5 mt=110% (575 5-tuples)
Histograma logio(Fi/max{Fi12345})
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Sujeito S2 mt=110% (575 5-tuples)
Histograma logio(Fi/max{F12345})
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Sujeito S4 mt=110% (590 5-tuples)
Histograma logio(Fi/max{F12345})
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Sujeito S6 mt=110% (580 5-tuples)
Histograma logio(Fi/max{F12345})




Sujeito S7 mt=110% (595 5-tuples)
Histograma logio(Fi/max{F12345})
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Sujeito S9 mt=110% (540 5-tuples)
Histograma logio(Fi/max{F12345})
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Sujeito S11 mt=110% (580 5-tuples)
Histograma logio(Fi/max{F12345})
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Sujeito S8 mt=110% (560 5-tuples)
Histograma logio(Fi/max{Fi12345})

Sujeito S10 mt=110% (555 5-tuples)
Histograma logio(Fi/max{F12345})

Sujeito S12 mt=110% (485 5-tuples)
Histograma log1o(Fi/max{F12345})




